AE=H—--RAFVF

SS-115B HRHRASE

CDIZOEO—5Y F RE—H— RAYVFSS-115B Z#BEV EFOIEE, HUNESITETOL&ET,

COBBEIEL <BBOWIIESIEDIC, TEARICRN—IO [EE] & MR 2L<BHmHalcsh, &fo, C
OB DBN IR+ CBBROICICSICDICE . CORKSHBEZ L<BHRAIZS Vo BIRGBEILEREE
ICTSICRBZEDTED LD FRICBVLTLIZE LY,

[T ] ([CREDBIMERBLUSIDRAE—H—EHAETTHEEBLITBRE . BHENTLECOREREARIITDEDTIE
BYUET A XDEOBENAEINDHE. BELTHRETZTHNEDD ., AREICBSBVDTHERD L, FHLT
<IfES 0

E S CF
s STHADRA FYN—ZEEL . XAV FOFTHBERICEADNE T,
e 757w FRL TRE—H—ICBNTTRETT,
s —HOBENBRICHKETE . REENKBHETI.
s MEBTIREI TP IVIHDICD, HEVEICBNTOE T,

BT (T FIE
1. /7 - RIUK 1 ABEO=MABE=£T, ZMAE+HBOIE, /T ] SR
RV 1 EFEDET,
% EARSEFROEDITEEL TS0,
% ORN—IIHBTEEDESIC SHIDSEHR OB 1200mm
LB 3 FTBOTLS0. CHOBEAEIEOEREMD
BLARYUET,
% 28V R ARICYSEBRBOESICL TS0,
2, /T R EEDRAEY R2 AEBIELET,
3. FBEOBECREED. RV S—%EIAY R2ICELAHE T,
CEESD)
% IBEBSEROIIIEEL TS0,
% MTR b N—EELRAATSRETERL TS0,
4, /7 RIVR2 E@EOET,

5. RE—N—2 XAV F2NELAATRYNFE T,
¥ BERF>SEFROLDITERLTIEE L,
WELDEE

o RN=IZHBTHEED LI =D SEHDEEREND 1200mm
IZ738 & TROLTIZE L,

o GHERHIET DI RE—N—ZMUNFITRET ., 24D
SO 1.8MUTICED LDICHREL TIZE W,

e N—RNY FDLEBENRBIBHEE REMNBIBEDT
=HoREAEIOIRL TS,

s EVRE—N—ZRUNITEHEIE. AREICEST VLD,
=HOBREAEYE SR EIERL TS0,

o /7 NV MIHERITHED TIZS o

Eprgnn

o BISHRE SST-151. KC-100., KC-300 (734 v ha@BARLGLY)
RDS-170. DA-800. DA-1500, SRS-80. SRS-120 (Z>4 v b%zEAT5)
¥ ERHMAOREICOVWTIE, BREOBESAEEZ B LSV,
* SFEMMEE © 294N (30kg)

J 7RIV b2

J 7RIV M

B

e BE 2.6kg

L gl 67T LR

o HMEE - 198 (@) X 121 (BRf7) X 1105 () mm (IS4 v bAEAH ., ST UTCIc ATSIREE
s B : TS w bk BIRSBAE,. Y (M5 X 50) 44K, Dwyvr— (M5) 48

¥ HROMESLONEIFT. AROICODFIEZEEITSENDYET,
©1999 O—5Y K AZEDO—B. HLLBERZEYN TRT - GHISCZRLET,



CAVIR RS

37 37 81

J
6}
/

23
249

4

) |
S 1D - - — == -
7 Q {F o
d TN [

J

£1210~1720

=

DB Z 12000 & Z D

550

1200

N

AEBE AEBE

TOLRBOIEF, BRICLBOTIIZE 0, & RUKBOPOICIBICERLTICES 0. 27

THELLEFSXICFO -3V F - H—EXIC

@ 1B HROZWFET, MBRHAZBICEHN ® @ BIHEDOVLD CRETERTZHE. HTHED
KADHICHD B4R 18EL ThIF TS0
B/IAL TIZE o

A

.............................................................................................................. AN EE

BLRBOWTLIEE O BITRELITKERIZT
ICRBL T<IZE 0,

@ EMLICI—FPIr—TIVEREEMEICEEN
FOICEEL . BZSIoDHFRBOEDTEREL
EEW. WIS, I— FYPr—JIVEIR. 7%
DFHBHBVKDICEEBL TIIZE L,

@ COHEE. <BEDIBDLEPROVIBAICE o

EEOESI)IBNIET I HMUVEDEIE . - - o—Syrssmsat -3 TlER
KD . PEOSHEORICERE
HEBE BRSO,
O-5> KRSt 24—
SATRERT | FAT10BE~SF1E5RE (1. HEE. HWH B LUEMEEDKEZR<)

<WEES>
B XFR TEL (06) 6345-9500 Ml 5 TEL (03) 3251-6150 M 3&#2 TEL (053) 414-7120
<fEFf>

T433-8118 BEEEMNMSHEM4-7-19 O0—>Y FRILRBTEY 2 —

BIRICRET A BRIVE DI - - - BRESROOHEED [H—EPROEO] ([CTBOEEF. /-3
P—ER - 7Y 3VETIB/ARICS Ve [—ERORDO] &
RIFBICE . tL<EHEOEBCHENTOET,

¥ ERRBOOEIR, e, ERFESER. FELKERTEIEFBNETOTITHRILESL, '02.2. 13 |1

- /

A



Speaker Stand

SS-115B Owner’s Manuadl

Thank you for choosing the SS-115B Roland Speaker Stand.

Before using this unit, carefully read the section entitled: “USING THE UNIT SAFELY” (p. 2). This section provides
important information concerning the proper operation of the unit. Additionally, in order to feel assured that you have
gained a good grasp of every feature provided by your new unit, this manual should be read in its entirety. The manual
should be saved and kept on hand as a convenient reference.

When installed in combination with speakers other than one listed in “ Applicable speaker models” under “Specifications,” Roland makes
no assurance as to the stability thereof. Before attempting such use, be sure to check carefully to ensure that stable installation and
continued stability during use are possible.

Main Futures
* Equipped with a height-adjustment stopper, making it easy to change the height of the stand.
¢ Allows mounting of speakers without brackets.
* You can freely set the opening angle of the tripod, so stability is excellent.
¢ The lightweight yet rugged aluminum construction promises outstanding mobility.

Attachment Procedure

1. Loosen knob bolt #1 and open the tripod. After opening the tripod, ] Stand #2
tighten the knob bolt again.

. . Knob bolt #2
* Be careful not to pinch your fingers.

* The distance between lower ends of the tripod should be 1200 mm as
shown in figures on the next page. If the tripod is not opened wide
enough, the stand may be unstable.

* Make sure that the lower end of stand #1 does not touch the floor.

2. Loosen knob bolt #2 and make stand #2 longer.

3. Set up stand #2 at the required height and insert the stopper into the
hole in stand #2. (refer to figure 2)

Knob bolt #1

Stand #1

* Be careful not to pinch your fingers.
* Use the SS-115B only with the stopper inserted into stand #2.
4. Tighten knob bolt #2.

5. Fit the hole on the speaker system onto stand #2.

* Be careful not to pinch your fingers.

Installation Cautions figure 1

¢ The distance between lower ends of the tripod should be
1200 mm as shown in figures on the next page.

¢ For safety and stability, total height of the S5-115B and a
speaker system must be 1.8 m or less.

¢ Stability may be affected when the stand is set up on carpeting
or any other soft surface. When using the stand on such
surfaces, please give ample attention to the angle of the tripod.

¢ Make sure that the tripod is wide enough and stand #2 is not
too high to ensure that the stand is stable when a heavy model
is placed on the stand.

¢ Tighten knob bolts firmly.

Specifications figure 2

e Applicable speaker models: SST-151, KC-100, KC-300 (with no brackets)
RDS-170, DA-800, DA-1500, SRS-80, SRS-120 (with a bracket)
* For models not listed above, refer to the owner's manual of each model.
* Max load: 294N (30 kg /66 Ibs 3 0z)
e Weight: 2.6kg/51lbs12 0z
e Finish: Black alumite (aluminum)
¢ Dimensions: 198 (W) x 121 (D) x 1105 (H) mm 7-13/16 (W) x 4-13/16 (D) x 43-9/16 (H) inches
(when attached the included bracket and folded most compactly)
e Accessories  Bracket, Owner’s Manual, Screws (5 x 50 mm) x 4, Flat washers (5 mm) x 4
* In the interest of product improvement, the specifications and/or appearance of this unit are subject to change without prior notice.

Copyright © 1999 ROLAND CORPORATION  All rights reserved. No part of this publication may be reproduced in any form
without the written permission of ROLAND CORPORATION.




Dimensions

132
37 37 81

110.5
88
~

\

T
f

|

|
i

|

|
¥

I

|

|

|

|
23
249

1210-1720 at open tripod 1200

550

1200

USING THE UNIT SAFELY

| INSTRUCTIONS FOR THE PREVENTION OF FIRE, ELECTRIC SHOCK, OR INJURY TO PERSONS

About A WARNING and A\ CAUTION Notices

About the Symbols

Used for instructions intended to alert
the user to the risk of death or severe

/A\WARNING injury should the wunit be wused
improperly.

Used for instructions intended to alert
the user to the risk of injury or material
damage should the unit be used
improperly.

/\ CAUTION

* Material damage refers to damage or

other adverse effects caused with
respect to the home and all its
furnishings, as well to domestic
animals or pets.

A

The A\ symbol alerts the user to important instructions
or warnings.The specific meaning of the symbol is
determined by the design contained within the
triangle. In the case of the symbol at left, it is used for
general cautions, warnings, or alerts to danger.

The © symbol alerts the user to items that must never
be carried out (are forbidden). The specific thing that
must not be done is indicated by the design contained
within the circle. In the case of the symbol at left, it
means that the unit must never be disassembled.

-------------------------------------- ALWAYS OBSERVE THE FOLLOWING

/\WARNING |

* Do not attempt to repair the unit, or replace parts
within it (except when this manual provides
specific instructions directing you to do so). Refer
all servicing to your retailer, the nearest Roland
Service Center, or an authorized Roland
distributor, as listed on the “Information” sheet.

* Make sure you always have the unit placed so it is
level and sure to remain stable. Never place it on
stands that could wobble, or on inclined surfaces.

<

The @ symbol alerts the user to things that must be
carried out. The specific thing that must be done is
indicated by the design contained within the circle. In
the case of the symbol at left, it means that the power-
cord plug must be unplugged from the outlet.

/A WARNING

In households with small children, an adult
should provide supervision until the child is
capable of following all the rules essential for the
safe operation of the unit.

/\ CAUTION

Try to prevent cords and cables from becoming
entangled, and be careful not to stumble over
them. Also, all cords and cables should be placed
so they are out of the reach of children.




